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QuESTION } i~ (lO marks)

Rl in +he blank with an appropriare
term from +his list,

PERPEN DICULAR,, COLLINEAR , OBTUSE ,
CORRESPONDING , CO-INTERIOR , ALTERNATE,
SUPPLEMENTARY | ADJACENT , CONCURRENT,
BISECTOR , INTERSECTING , COMPLEMENTARY,
PARALLEL , I1SOSCELES,, EQUILATERAL , ACUTE,

@) An mjle lies behkveen
90° and 180°,

b)) An +r~o'ozﬁlc has +wo
eq_uo.l sides .

(c) Points that lie on the same s:m@m'-nae

are called Poo‘/u"s .

df
“ angles add up +o 180°.

¢e) Lines thal pass #mouslm a common,

lines,

Poaar are called
) Two lines which meer ot n‘gh.l' azsles

are said 4o be +o one
another,
(g) A of an angle divides
the angle ezaa.lg.
4 L' " .
a\® o
\F N

h\\';
In the figure above

Ch) Angle.s a ande are called

anales .

and ¥ are called

aaales .

d and £ are called

() Angles ¢

() Angles

angle-s .

QuesTtion 2 :- (1Omarks)

(a) Fnd +he sum of the interior c:mgleo
of an Ocl'agon..

(b)) ¥ aa inkerior angle of a r'egu.low

Powon. measures !44°) how MOnﬁ

sides are there for the polygon ?

)

x.o

Find the value of x (giw‘nﬂ reasons)

(d)

145%
:w" K

Fnd the value of x (without giving
régsons)
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(2) (Cont'd)

ce) X
'7
X, .

Find = (34‘\/3::3 reasons )

(f)

108° .

Rnd x° ( 3?\’1‘0\7 reqsens)

QUESTION 3 :—~ (ilOmarks)

ca) P Q
PQRS is o
Square,

Tua . T
If PQT”RQU'

S u R
(i) Prove that As fQT, RQU
are con‘grqe,u-'

(3)(Ca) ¢iD Prove +hat

ST = sd
(b)) A 8 Vi F
J |
&
2 c
3 ¢

ABCD is a rhombus.,
AD 2@ cm , DE ¢ 3cm ,
CE =2 6cm, CF IGM,BFabcm.

Calewlare the values of
a and Ir

)

L« ]

D a (o4

A ABC is eiaa'lalml and.
has a perimerer of 302 cm..

Find. the value of a.
C Hink : Use ‘29’,'"“3""“‘5 Thecrem)

QuesTion 4 : (6 marks)

Ca) If f(x) = x*!
r A
Find
ORI
ciiy F(=1)

Git) fla+i)

Cb) Write down the natuwal
domain of each of these

funckions
2

0 -
¢ J 2% + 1

(i) Yy = 3Y5x-2
Gii) g = 3-x + [/ x-I
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QuEsTionN | i~ (1O marks )

Rl in the blark with an appropriake
term from. +his list,

PERPENDICULAR, COLLINEAR  OBTUSE ,

CORRESPONDING , CO-INTERIOR , ALTERNATE
ADJACENT , CONCURRENT,

SUPPLEMENTARY »
BISECTOR , INTERSECTING , COMPLEMENTARY
PARALLEL , ISOScELES , EQUILATERAL . ACUTE .

(@) An OBTUSE angle lies befrueen
90" and j80°,

(b) An _ISOSCELES Friangle has +wo
eci_uaj sides .

(c) Points thar lie on the same staight line

are called coLLiNEAR poinks |

C“) ’ G
SUPPLEMENTARY an3/&3 add u_P.}b 180 .

¢) Lines thal pass -Hwou\?/-,, a ccmmon,
point are called cONCURRENT  |ipes

(F) Two lines which, meel af r-ish.f' axyles
T Said 4o be PERPENDICULAR 4o one

another
(g) A BISECTOR of an arg/e divides

the ansle eiua.ly .

N

a <

\
12

In the :C:;yufe above |

(h) Angle-s a ande are called

CORRESPONDING dﬂgles.
(¢) Angles ¢ and f are called
CO - INTER I1OR. angles,

(J) Angles d and £ are called

ALTERNATE angles .

Question 2 - (1Omarks)

of an Ock
Sum = (2n-4) x 90°

= (2x8-4) %x90°

= o80°
¢b) If an inkerior angle of

pelygen measures 1447,

polygon. = 360°
3¢xn = 3€0

Loorn =2 10 sides

Sides are there for the pe
Sum of the exéicrnor o./?feo o

(a) FAnd the sum of the inkerior c.nﬁ/ea

a r‘?u.!or

how mcrw

gan n-Sided

&)
Find the value of x (31»»:43 reasens®
Yy = 40 (GD”PCcponcuaj £s)
Bur x+y = 180 Csﬁmsh./— line)
. %+ 40 = (80
Lo = 140
(d)

x + (50 = i180

x = 30

Fnd the value of x (without giving

re ascns)




Hogram )
x + 35 =180 (Shaight
g
ne )
x = 145
(F) 8
-~ — e —_
c ‘ 3108—.-
F G
Fnd x° (givinj ressons)

Draw CE || As || FG
. L BDE = 70° (Alt. Ls A8([cE)
. LEDG =38°

x =38 (At Ls CE[|FG)

TiO K
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€2) (Cont'd) (3)(a) Ci) Prove +har I ABC is eguilateray, then
ce) ST = sd 8c = I8 = oz
N\ ;'n P = ApQ*S ‘Rw/\
——s Since PT =gu ( =4 But B8CY = &+ a* ( Pythagoras
. Ps-PT = RS -AU a Thm)
< ARY . ST = sSu = 2a
o Coivs ) L 8c =2 a
n € tving reasens
gvns (p) A * 8 b F od2 = a2
3 - 35 (OPP' ls OF
10 = a

.

aQ =10

QuesTioN 4 : (6 marks)

QuESTION 3~ (ilOmarks)

Cad P Q
PRRS is o
Square. T
- A A
IF PRT = RQU) 4
r
R

S u
(i) Prove thar As PQT, RQU
Gre congryent
In As PQT, RQU
PQ 2 RQ (Sides of square )

LRPT = £ qru (Lsof a
= go° Sczuare)

LPRT = LRQU (.’Dol'q)

. A PRT = ARQU (AAS)

(Hink: Use Pythageras Thacrem,

ABCD is a rhembus . Cay If f(x) = x*!
AD 2@ e¢m , DE = 3cm ) -
£ Ead
CI.=6CJ'1, CF =8cﬁz)5F:b’CﬂL o+
(i) f(o) = =7 = -1
Calcwlare +he values of
Q@ and L
AR = B¢ =DC = a ) F(-1) = ",/""I = O
(sideo of a rhombus)
Since A4 FBC lll AFAE il a2
then _a . & i) fla+i) = T - 4
a +3 14+ —
" 14a = 8(a+*3)
ba = 24
a = 4
Similanriy (6) Write down the natwal
& _ & (szfrcgof 7hm)} domain of each of Hhese
@ ¢ funcHons
-—b_ :-§- x_z
4 6 2 ; Gy y =
b:ExH = 53 2% + |
g 2x+1 # o0 y
A 2 #F -1 = X F -3
<) I
B (i) 4 = 3y &5x-2
£x-2 20 2
Sxy2 = **5
a
Gii) ¢ = E + [ x -1
D a c 3-%x 30 and x-l 20
A ABC s ezzu"lal'cral and. -x> -3
has a Pcrimcfﬂ”opdéffcm. x £ 3 and xF!
Find the value of a.




